Gonzaga High School ' Science 1206 - Chemistry

Chemistry Part I- Place the correct answers on the Scantron Sheet. Be sure to indicate the
difference between the Chemistry and Ecology answer sheets.
(25 marks)

L. Which of the following would be considered heterogeneous mixture?
A. Gatorade
B. table salt
"(C.J chicken noodle soup
D. ammonia

2. A pure substance forms a non-conductive solution. The class of compounds that it belongs to...

A. could be ionic or molecular.
B. could be ionic or acid
C. could be molecular or acid
{sz could only be molecular.
3. What is an ion with a positive charge?

A. element

(B) cation
C. formula unit
D. anion

4. Which of the following is a chemical property of a substance?
A. It floats
B. It is clear and colourless
C. Itis attracted by a magnet
{ b\ It coats itself with an oxide when exposed to air.

5. Which family on the periodic table does calcium belong?
A. Halogens
B. Noble gases
C. Alkali metals
(D, Alkaline earths

6. What is a row of elements in the periodic table known as?
A. group
B. list
(C) period
D. transition

P

A, acid

B. molecular substance
C. ionic compound

D. nonmetal

7. Whid\l description best describes HNO3(aq)?

\\\\\\

QA} neutral

B. positive
C. negative
D. magnetic

8. Which of the following describes the state of an atom's nucleus?

9. If an oxygen atom forms the oxygen ion O it has ...
(A} gained 2 electrons
B. loss 2 electrons
C. gained 2 protons
D. loss 2 protons

10. Which term below refers to multiple atoms that bond together with an overall charge?
{A Ionic compounds
(B! Polyatomic ions
C. Multivalent atoms
D. Molecular compounds
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11. Which chemical family naturally has full valance electron levels?
A. Halogens
(B) Noble gases
C. Alkali metals
D. Alkaline earths

12. Which element when combined with fluorine would most likely form an ionic compound?
(A} lithium
B. phosphorus
C. carbon
D. chlorine

13. What ion contains 18e” and 16p™?
(A) sulfide ion
B. calcium ion
C. argonion
D. chloride ion

14. Which element exists naturally as a diatomic molecule?
A. magnesium
B. lead
C. sulfur
(T))j fluorine

15. Which of the following is a physical property of sugar?
A. It decomposes readily.
B. It turns black with concentrated sulfuric acid
C. It burns to produce carbon dioxide and water
C D) It is a white crystalline solid

16. Which of the following elements are multi-valent (can form several ions)?
C‘Q Cu
B. Cd
C. Br
D. Al

17. How many valence electrons does a carbon atom have?
A3
B.) 4
C. 5
D. 6

18. What is the correct name for N2O4?
A. nitrogen oxide
‘B. dinitrogen tetraoxide
C. nitric acid
D. nitrogen(II) oxide

19. What is true in covalent bonding?
A. There is a force of attraction between a metallic and a nonmetallic atom
-B. There is a force of attraction between two metallic atoms
K{\Q\ Both atoms share electrons
D. A cation and an anion form a molecule

20. Which of the following is NOT a property of an acid?
A. taste sour
(B.) feels slippery
C. pH below 7
D. conducts electricity

21. In an ionic compound with the formula XO, what is the charge on the X ion?
Al 1+
B. 2+
C. 3+

(D‘x 4+

N
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22. Which term refers to the chemicals present at the start of a chemical reaction?
A.) reactants
B. products
C. molecules
D. compounds

23. What are the coefficients when the followin g equation is balanced?
N

Pl =
H3PO4(aq) + - NaOH(dq) — N‘d3PO4{aq) + - HOH(])

(A 1,3,1,3
B. 1,3,3,1
C. 3,2,2,6
D. 2,3, 1,3

b »

24. Which of the following is a single replacement reaction?
A. 2H2+ 02— 2 H,0

B. 2H:0 -2 H:+ 0»

C. 2KI+Pb(NO3)> — 2 KNOs + Pbl,

zf) H: SO4 + Mg — MgSOy4 + H»

25. Wh/j\Ch of the following represents a simple decomposition reaction?
A, 2H:0 52 H; +0,

B. 2 KClOs -2 KCl + 30,

C. GHs + 02 — 3 H:0 + 2C0;,

D. 2 KI+Pb(NO3), — 2 KNO;3 + Pbl,

Chemistry Part I1 - Extended Response (25 marks) — Answer all of the questions in the space
provided.

1. Sketch the electron configuration diagrams for a calcium atom and the bromide ion. Include the correct
number of protons, electrons, and the proper atomic symbols in the diagrams. (2 marks)

Calcium Atom Bromide Ion
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2. Explain the difference between the ionic bonding of ionic compounds and the covalent bonding of
molecules. (2 marks)
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3. Match the following Workplace Hazardous Materials Information System (WHMIS) symbols to the
type of hazard it indicates by placing the symbol letter next to proper hazard. (2 marks total)

® 6 ®6

Biohazardous Infectious Material C
Flammable Material 4
Corrosive Material L
Poisonous Material £

3. Complete the following tables by placing the chemical formula or chemical name in the space provide
(1/2 mark each) (6 marks total)

Chemical Name Chemical Formula
sodium bromide Ne E .
Nao 12
O[)L\ o 5 e | Ci2H220n
“ aluminum chloride jf_\ [F" f 3
iran () icoh de. Fels
hydroflouric acid ) ,) F ) Cag
tebvapho glopous Fexo 043¢ P4Oe
" tin (IV) sulfate S(\ (79
S"v‘\iﬂpu‘/ %"’\OX/‘d £ —
Methane C P L
Jood (DY Nityo te i
carbon disulfide C < ,
Nt Q 0.1 0 FNOstq
4. Balance the chemical reactions and name the reaction type. (5 marks) P
k?__FSC]}(aq) + 3_H2$O4(aq) - __LFCZ(SO4)3(uq) + _E}\__HCI(aq) Type: D \

_LCum + _?‘_AgNOB(aq)—) _/2_,_Ag(s)+ ) Cu(NO3)2aq) Type: 5 &

S%_Fe(s) + _LSS(g) - %_Fes(s) Type: —

()_’_AlCls(s) - ,_L__Al(s) + S_Clg(g) Type: \D

?"’_K(s) + _ Ca(OH)ag — _/Z;KOH(aq) + __ Cay Type: S fb\
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5. For each of the following word equations, give the balanced chemical equation. ‘
(4 marks — 2 marks each)

a) Solid aluminum combines with oxygen gas to produce solid aluminum oxide.

b) A solution of calcium carbonate will react with a solution of potassium chloride to produce

calcium chloride and potassium carbonate
L co, +2kC)] - Gal, + kLCO,
{:‘“ """ O Q”" <3 3 —XL W//“\ <~M / - ) —O sz I A 2 e \j

6. For each set of reactants, predict the products, balance the chemical equations, and name the reaction
types. (4 marks - 2 marks each)

/;)) —~ M
f”;}”»? o /r\ . '”w\ §? g‘\m L/
A 7 ) ALERL), B5Br
a) {;} Sr(ClO3) + L. AlBry —/_ I g‘\g“’ \J'g}f g L‘> ¥ b 3
DR
Reaction Type: NN
o - o crww j
‘ pAN
b) 7 Sc + “?f L — 4.0 WW?&
Y
Reaction Type: —
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